Tou

el

® o0

@ 2




4=116< Vx<5= 25
sox=17,18,19,20,21, 22,23, 24,25




[
=

2.
I
=

7 %
Q@ @

(K=}
Il




olJ

ol
o8

dlig
Njo

oln




M— V3IXx3X2x2x%x2
V55

2
:3X5X‘/_—6\/§

=3V2-6V2
=-3V2

&) =




2443

5 = aVEbVE 2wl ab o) G Felofek

6. V2(2V3-6)

=
[=

>
> e ab = -28

B

VE(2VE - 6) - 243

V2
V2(2 - 4v3)
V2v2
:2\/6—6\/_—2\/5;4\/6
=2V6-6V2-(V2-2v6)
=2V6-6V2- v2+26
=-7V2+4V6
a=-7, =4
..oab = -28

=2V6-6v2-




7.

oFe A AA ] BA ] Lol o] e

® 12v3+8v7F  @)12v6+8v7 S
® 28V6+3V5 @ 28V6+8V7
® 28V6+ 95 i ’

B
BAE ] dojo] T2
4(V24 + V28 + V6) = 4(2V6 + 27 + V6)
=4(3V6 +27)
=12V6+ 87




N
iy
)
<} T
(G
o np
n <
<
ol on
op T
oo

0

V5

=

oju

i
-
L
%o 7y
3
TN
nl
Qo
olJ _H_
oy |
o 7
{FLg
A,_, :I
HEl
o) %t
_H_HT
o) &
H
o+ T

-

ul

A

-

ul

-

ul

<}

<

i

=

0

ey

pld

i

<}

ﬂmo

T

S B
~




thS 104 AEFH ¢] Yol71 8 & ul, AH

9

@ 8 @) V8 ® V2
@ V3 ® 5




10. a>0 QW the F 274 2L ALY

© Va? =a @ (-va)*=a
@ (Va)*=a ® -Va2=-a

~&B

a>0 24 o,

O Va2 =la|=a
@(—W—a

®-/(- ~Va2 = —|a| =
@(\/5)2—61

® Va2 =—la| = -a




11. 1<x<39d, /(x=3)7+ /(x+1)2 & 03] stolt.

>
|> S L= |

oHd -

Vx=32+ /(x+1)2

(x-3)+x+1

4




12. V720 o H47t =S she 7V 2L A4S 0 o g Fotolet,

> E.

> A n=2

V72n = V23 x 3% x n oA 29149 2|57 LT =7} Fofof
StR= p =2 o]t}




3>2420|B&2
i-2v8]-[o 24
=3-2V242v2-3=0




14. thg Pel4t obd 44

® V8 @ VIo @)-voot
@ V3+3 ® V3-1

‘ ® -+0.01 = -0.1




Sl solct,

7} /1000

=z 9
TE




mlo

Vi=x, VIo =y g & o, 5v5+3VI0-10V5+ 14 V10
o]-Fﬂax—l—byE‘%E]' 4 Stk o] W, 2a - b & 27

@- @5 ® 3 ® 5 ® 27

~&B

55 +3V10 — 10 V5 + 14 V10
= (5-10) V5 + (3 + 14) VIO
=-5V5+17V10

= —bx+ 17y




1 a a
2\/5><7§—2\/6>< \/5—7§x4\/§+7§x2

=2vV2-12-4a+a\?2

= V2(2+a)-12-4a
Fe47t =71 i a+2=0
Soa=—2




1012 312
18. 506 = V¥ Var =3 A, a+b O & FSHAH?

@5 @10 ® 15 @ 20 ® 25

B

10" 10'? 100 o =
506 ~ 26x106 20 0 5% =0

312
3—4:‘/3_8:34,17:4

sa+b=10




19. 5 A A 0 o dsted, \/5(n+ 13) ©] AD47} HER Sh= g
o] grel e

@ 69 @ 79 ® 89 @99 ® 109

B ~
10<n <100, /5(n+13) - A4

n+ 13 = 5k2

23 < 5k% < 113

4.6 <k% <226

~k2=9,16

n=5x9-13=32 ,n=5x16—-13 = 67

wr2bA n o] 3ol §-2 32 + 67 = 99 o]t}




20. o2 e gt He] Zojrt 2 91 HAHZEE ABCD o4 AC = P
o]1 BD = BQ, BO = =

@ P(3-V2) @ R(1-V2)
® PR =22 @)Pq-1vi-2
® BO =2v2

~&B

A HZHE gt o] ozt 2 o] B2 thZhd ZolE 22 oJtt.
PE3-2v2,QE51+2V2,R21+ 2
®PR=(1+V2)-(3-2v2)=-2+3+2
@®PQ=(1+2V2)-(3-2V2) =4v2-2
®BO = V2




21. AFTHEANA V30 = 5477 4 W, Va = 0.05477 & T
3k ot

@® 3000 @ 300 ® 3 @ 0.3 ©)

~&B

1 V30
0.05477 = 5ATT X —oo = oo

i
= V39> 5000




22,

. 3 V18
‘/673‘/§XE—T_0‘/_01M1 a®] = Fotoiet.
» E:

D> &Y a= L
3

\/6+3\/§xi+@

1 123 0 6

= V6 % X X

3
:L_ﬁ 2V3  3V2

V3 3
¥ avFelnz = Lojet




0, ab< 02, Va2+ Vb2 \/(-a)2+

® 0 @2  ®a-b @  ®a+b

ab <0 ©|H a%} b o] 57} th=1},
a-b<0°Ha<bholB& a<0, b>0°|th
a<0°B& Va2 =—a,b>0°2& Vb2 =)
a<00°|22 \/(-a)? = Va? = -a
b>00lB2 \/(-b)2= Vb2 =)

e A]
Va2 + V2 - /(=a)? + /(-b)?
=-a+b-(-a)+b

=2b




24. 3x—y=12 A W, V5r Ty 7H A5 WA WEE AV AL A
x & Fotolet,

» E:

> ®™eth: 2

gL \
3x-y=12 = y=3x—-12
Vox +y= Vbx+3x—12 = V8x—12
13
B

V8x—-12=1 = 8x-12=1, x=

(x £ Q471 ohiet)
V8x—12=2 = 8x—-12=4, x=2
webA x = 20]ch




25. the ABZEE olgatel VI o g FohH?

T 0 1 2 3 4

3.0 | 1,732 | 1,735 | 1.738 | 1.741 | 1,744
4.0 12,000(2,002|2,005]|2,007]| 2,010
5.0 12.230]2.238 | 2.241 | 2,243 | 2.245

® 44.72 @ 34.64 ® 34.70 @ 34.76 @44.76

B

V2004 = V4 x 501= 2 V501
=2x V5.01 x 100
=20+5.01

ZFolZ FoA 5.01 = 2.238

- 20 X 2.238 = 44.76




